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Reading:
Traditional methods of waste disposal were careless and have become environmentally unacceptable. Most rubbish used to be dumped or burned, either on land or at sea. Uncontrolled air, ground and water pollution were the result. Today, everyone understands that waste disposal needs expert skills. 
Burying rubbish – ‘landfill’ – remains the most common form of waste disposal, but it is becoming an expensive choice. This is partly because landfill sites now have to be carefully constructed to prevent pollution – toxic leaks into the groundwater, for example. It is also because the world is running out of holes in the ground to fill with waste. Both of these changes are making landfill more and more expensive.

Due to disposal costs alone, it therefore now makes good economic sense to recycle as much as possible. Moreover, there are several other major economic points to consider. Recycling has positive cost advantages in itself. Making a completely new aluminium can costs 20 times as much as recycling an old one. Similarly, the world now makes a quarter of its new steel from recycled metal, and the USA has recently raised this to a third. Recycling therefore saves the producer money and helps to limit consumer price rises.

Q1- Decide whether the following statements are true or false.

 1- The old methods of waste disposal can be used today                     (              )
 2- Countries now recycle more because recycling is profitable          (              )
Q2- Why has landfill waste disposal become an expensive choice?
        …………………………………………………………………………………………………

        …………………………………………………………………………………………………

Q3- What are the advantages of  recycling- to the world?
        …………………………………………………………………………………………………

        …………………………………………………………………………………………………
Q4- What do following refer to? 
       1-  Line 12:  20 times ……………………………………………………

       2-  Line 14:  this ……………………………………………………….
Q5- What do the following mean? 

1- Environmentally unacceptable …………………………………………………………….

2- Find  words  in the text which mean the same as the following

 found in many places………………………………  avoid  ………………….     Locations ……………
3- Find  words in the text which give the opposite meaning to the following

 consumer …………………….     Completely ……………………    negative  …………………………….
Q6- Circle the correct answer.
1-Landfill has become an expensive choice: the word expensive mean:

a-valuable                     b-costs                        c-suitable                  d- costly and bad 
2-The USA now makes a ……………of its steel from recycled metal.

a-half                      b-a third                        c- a quarter                 d-a fifth

Vocabulary:
Q1- Fill in the blanks with the suitable opposite words:-

1- The lowest temperature of the day was 4 C  this morning, and the …………………..was 31 C this afternoon. 
2- There isn’t ………………………………..information to know when an earthquake will happen and predictions are insufficient. 
3- Some experts say that new energy sources will solve our problems, but not all are optimistic. Many are …………………………………  

Q2. Complete the following with the suitable word from the same word family.

1-Burj Dubai has a ……………………..of 174 meters into the ground.  (deep)

2-American cities are quite ……………………………….  (industry)
3-It is expensive to …………………………..of waste.

Q3- Choose the correct answer:
1-Our city wastes are usually taken to the local dump .
The word dump means a place where rubbish is ... 

a-put                    b-recycled                     c-sorted out                             d- used

2-We need more than 6 liters of ………………….for cooking in the month.

a-rice                   b-flour                          c-meat                                         d-oil

3-The city council believes that environmental services have improved. 
    The word improved means:

a- did well              b- done well             c- do better          d- does better 
4-. Supply can_________ keep up with demand.

     a) hard                b) hardship           c) hardly                        d) harder
5- . Scientists want to reduce oil’s polluting _____________

     a) emissions         b) emit               c) emits                         d) emitted 
6. Our school usually brings ………………..clever teachers to help students. 

     a) up                      b) down            c) into                    d) in
Q4- Make pairs of words from the table to complete the following sentences:

	Fossil       
	Computer
	Steel
	Global    
	Plastic

	 Warming
	Frames
	Pots
	Screen
	Fuels


1-My neigbour is a farmer .He plants seeds in  …………………………………………………

2-In Dubai, buildings are made of ………………………………………………

3-…………………………………………..is more dangerous than wars.

4-What you type appears on the …………………………………………
Q5-Complete the following with the suitable connector from the list .
                     despite      however       because  
1-Nobody knows the immigrants exact number ………………….many enters the country secretly.
2-Some people say that Spanish should become an official language…………………………,
others disagree  .
Language:
Q1. Rewrite each sentence. Use the word in brackets, (in positive or negative form)

1-It isn’t necessary to go if you don’t want to. ( have to)
    ……………………………………………………………………………………..
2- Please  bring me that magazine    (could)

    ………………………………………………………………..……………………

 Q2. Fill in the blanks with the suitable modal from the list 


1- You ………………………spend your money so quickly
2- I ………………swim when I was only four.

3- You ………………….finish even a minute late.

4- Luckily, I …………….get up too early because the test wasn’t until midday.  
Q3- Supply with the suitable question:
      1. She comes from Australia. (where)

           ………………………………………………………………………………………………….?        
       2. He is from Palestine. (where)
           ………………………………………………………………………………………………….?
      3. Ali left school in 1995. (when)
           ……………………………………………………………………………………………………?
     4. He went to school on foot. (how)
           ……………………………………………………………………………………………………..?

Q4 Correct the verb between (            )

1- I …………………………. He’s all right now.   (think)

2- The bus hasn’t arrived yet. We …………………………………for three hours. (wait)
3- He remained the best student as he…………………………………before.  (be)

4-  What …………………………………for dinner tonight? Chicken?    ( We have) 
5- At that time, London …………………………the largest city.(not be ) 

6- What speed ……………………..your car …………………?     (do )

Q5. Complete the statement with be or have.   

1- In 2020,Bombay……………………………………………………………………..........................
Literature:

Q1- Answer the following questions.

1- Why does the banker regret the bet?
        ………………………………………………………………………………………………………………………………

2- Why was the banker astonished at the prisoner’s reading?
………………………………………………………………………………………………………………………………

3- Where from did the banker know that the prisoner suffered a lot in the first year?
………………………………………………………………………………………………………………………………

4- How did the prisoner look like?
………………………………………………………………………………………………………………………………

Q2- Choose the correct answer

a) In the first year, the prisoner suffered from lack of books.

b) music and novels.

c) being depressed and alone.

d) loud noise of music.

2-In the second year, the prisoner 
a) Played music but softly.

b) Read books of light character.

c) Stopped reading books.

d) Read only classics and stopped playing music.

Q3- Are the following True Or False 
a. The prisoner learned six languages in year ten.             (          )

b. The banker went out at night to kill the prisoner.          (         )
c. The watchman was watching the banker.        
              (         )
d. The seals on the doors were broken.                                   (         )
Q4- Answer the following quotations.
1. “Oh, if you only know what unearthly happiness my soul feels now”
I. Who said this? …………………….

II. Who is addressed? …………………….

III. What was the occasion?  ………………………………………………………………………………………
……………………………………………………………………………………………………………………………..
2. “..., suspicion would fall first upon the watchman”

1. Who said this?              …………………………………………………………………………………………..
2. Who is addressed? ………………………………………………………………………………………………..
3. What is the suspicion about? …………………………………………………………………………………..
…………………………………………………………………………………………………………………………………..
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Complete the following with words from the list .

Wasteful   necessary  necessity   patriotic   recycle    recycling     living
1- Water is a …………………………….. to every  ……………………….. thing.

2- The council asks people to be  responsible and ………………………………….

3- Please  ……………………………….as much as you can. Put newspapers ,etc , in the green …………………………box that we have provided .

4- The Council is worried that people are too ………………………in the way they throw things. 

Q2 -Match the following to their meanings.

         Council       faulty        tips         leaking       achieve

1-broken                 ……………………………………

2-do successfully     …………………………………….

4-pieces of advice            ………………………………..

3-allowing liquid to get in or out       …………………………………

Q3- Decide whether the following are countable or uncountable nouns: Write    C    or  U   and fill in with the correct form. 

                  Time          glass    paper         material   

1- She has been to Jerusalem many ……………………………………….[        ]

2- ……………………………………….. passes quickly.        [        ]

3- I need some …………………………………..for address .   [        ]

4- These ………………………………..are important documents .     [        ]

5- We need five more pieces of …………………….. to finish the window.[     ]
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